M-6-6-3_Distributive Property and KEY

Working with the Distributive Property to Solve Equations
	Problem
	Distributive Property
	Distribute Out
	Compute
	Answer

	4 × 23 =
	4 × (20 + 3) =

4(20 + 3) =
	(4 × 20) + (4 × 3) =
	80 + 12
	92

	
	6(a + 5)
	(6 × a) + (6 × 5)
	6a + 30
	6a + 30

	4 × 92
	
	
	
	

	5 × 34
	
	
	
	

	8 × 89
	
	
	
	

	4 × 51
	
	
	
	

	
	6(2t + 2)
	
	
	

	
	a(4 + b)
	
	
	

	
	2(3 + 8a)
	
	
	


Working with the Distributive Property to Solve Equations (Key)
	Problem
	Distributive Property
	Distribute Out
	Compute
	Answer

	4 × 23 =
	4 × (20 + 3) =

4(20 + 3) =
	(4 × 20) + (4 × 3) =
	80 + 12
	92

	
	6(a + 5)
	(6 × a) + (6 × 5)
	6a + 30
	6a + 30

	4 × 92
	4 × (90 + 2)

4(90 + 2)
	(4 × 90) + (4 × 2)
	360 + 8
	368

	5 × 34
	5 × (30 + 4)

5(30 + 4)
	(5 × 30) + (5 × 4)
	150 + 20
	170

	8 × 89
	8 × (80 + 9)

8(80 + 9)
	(8 × 80) + (8 × 9)
	640 + 72
	712

	4 × 51
	4 × (50 + 1)

4(50 + 1)
	(4 × 50) + (4 × 1)
	200 + 4
	204

	
	6(2t + 2)
	(6 × 2t) + (6 × 2)
	12t + 12
	12t + 12

	
	a(4 + b)
	(a × 4) + (a × b)
	4a + ab
	4a + ab

	
	2(3 + 8a)
	(2 × 3) + (2 × 8a)
	6 + 16a
	6 + 16a


